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Movtélo Black-Scholes
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Movtélo Black-Scholes
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H g€icwon Black-Scholes
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H g€icwon Black-Scholes
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H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog

oV osvan Adem s €5.6woyqs B-S

-

t 2V
Whe € ey 5 du R

T T _
S"W =Je*tr5t3\vo\\,j1®:,{_
o ® ) \/a’\‘SVO

VE-VE =T o vy, 4T Vi€ Vo
O

,E VT*/Soj = Vo + I%;I/'Sa]
Eg v 15,1 = Vo



H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog
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H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog
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H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog

ae 2T |
-2 Strike
, > {
?\_(. .2.1 ( -\ E‘( - W Mm(n0) = *_
T 'JXz+ kv\ ) Ax o o) = (7K )"r
Anxegn  haobiAutas W %e)
= %,€ )
U(x,e) = Qq’(*n—c“r(x <) 4)( )
Dw
ou 2% -, = = @ew t 2%
g.o 2T 9
24 _ 2> 2w 2w
Ax - W 5‘;:“4’“’\*“";}

Q-vioa.



H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog
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H g€icwon Black-Scholes kot n e€icwon Ogpuodtnrog
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